+36.270

+33.420
+30.720 = +30.720

+26.460

+22.050

LBo (Lo (|| R
N ) N N +17.640

™ ( 1

+13.230 Lot Lo TN #+13.230

‘
{
1!

b b +8.820

Li%ed L9 N +4.410

‘ l ,+0.000

+8.820

— N
\

+4.410

T

’ ‘ {L/ 1 f B // / /]
+0.000 . Ry =

S
-1.500 B a -1.350
L D /N /WY Sa— W L
-4.700 o = o= = B | & -4.700
. SO0 — i =—— E <%
B

-8,600 OO g ’ -8,600

¥ % 7 %

% // / \

2, _

6250 7000 6500 7500 7500 9000 6250

S

A B B) T iy E K m



	1118_Drawings for imagery web_Page_01
	1118_Drawings for imagery web_Page_10
	Pages from 1118_Drawings for imagery web

